Maths – Week 9 – Day 2
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Divide numbers up to 4 digits by a two-digit whole number, using
long division, and round its remainder up or down, as appropriate for
the context

@ 710eggs were putinto egg boxes holding 12 eggs.
How many boxes were filled? /

A coach can carry 34 passengers. How many coaches will be needed
to carry 798 passengers?

Rashid had collected 1642 football stickers. He put them onto sheets
with 24 stickers on each sheet. How many sheets had stickers on?
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@ 4 group of archaeology students found 2647 old coins.
Forty six coins could be packed in a box.
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@ 5427 people go to the stadium. There are 52 seats in each row.
How many rows were full of people?

@ The chocolate factory makes 8426 chocolates. Twenty-seven chocolates
fitin each bag. How many full bags of chocolates can be made?
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